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Q. No. 1: Encircle the correct option:   /48 

1) For any set A, AՈФ = __________. 

a. Ф b. A c. U d. None 

2) The set N of natural numbers and z of integers are __________ sets. 

a. Disjoint 

b. Overlapping 

c. Subset 

d. None 

3) If A={-1, 0, 1, 2, 3} and B={-1, 0, 1}, then B/A = _________. 

a. B b. A c. AB d. Ф 

4) The denominator of a rational number cannot be __________. 

a. 1 b. 2 c. 0 d. Integer 

5) 2/3 = __________. 

a. 0.    b. 0.    c. 0.    d. 0.    

6) The sum of two rational numbers is a __________ number. 

a. Rational b. Irrational c. Even d. None 

7) (37)º = ____________ 

a. 1 b. 0 c. 37 d. 370 

8) 23 = _________ 

a. 2 b. 3 c. 8 d. 6 

9) a8 x a5 = __________ 

a. a-13 b. a-3 c. a3 d. a-40 

10) if x:y=2:1 and y:z=2:1, then x:y:z = _________ 

a. 2:1:2 b. 4:2:1 c. 2:2:1 d. 1:1:2 

11) A speed of 72 kmh-1 = ______________ ms-1 

a. 2 b. 20 c. 200 d. 2000 

12) If we divide the number 280 in ratio 2:3:5, the greatest number will be ______. 

a. 140 b. 160 c. 170 d. 56 

13) Square root of 1225 is ____________. 

a. 64 b. 35 c. 72 d. 74 

14) A perfect square has ____________. 

a. Single factor 

b. Cube of each factor 

c. Pair of factors 

d. None 

15) Square of 1 is _____________. 

a. 2 b. 0 c. 1 d. None 

16) Zakat is due to at __________ gm of gold. 

a. 78.28 

b. 80.28 

c. 87.48 

d. 48.87 

17) 1 maund = __________kg 
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a. 20 b. 10 c. 30 d. 40 

18) The rate of zakat is __________. 

a. 25% b. 0.25% c. 25.5% d. 2.5% 

19) _________ a muslim mathematician extended the arithmetic operations to 

handle the polynomials: 

a. Al-Khuarizmi 

b. Al-Bairuni 

c. John venn 

d. Al Samawal 

20) Factorization of xy+xz is ____________. 

a. xy b. xyz2 c. x(y-z) d. x(y+z) 

21) If x+1/x =3 then    
 

  
 = ____________ 

a. 5 b. 7 c. 9 d. 11 

22) Kitab Al-Jabr wa’l – Muqabala” is written by: 

a. Al-Khuarizmi 

b. Al-Bairuni 

c. John Venn 

d. Al – Samawal  

23) The degree of linear equation is ___________. 

a. 0 b. 1 c. 2 d. 3 

24) If 5x=15 then x = ___________ 

a. 2 b. 3 c. 5 d. None 

25) The angle of straight line is __________ 

a. 90º b. 180º c. 240º d. 360º 

26) Any point of the perimeter of a circle is called _________. 

a. Tangent b. Segment c. Arc d. Center 

27) A _________ is the path of point moving at the same distance from the fixed point. 

a. Oval b. Square c. Circle d. Triangle 

28) The largest segment of a circle is _________. 

a. Diameter b. Radius c. Arc d. Chord 

29) The sum of measurement of quadrilateral is ____________. 

a. 90º b. 180º c. 270º d. 360º 

30) In equilateral triangle each angle is equal to _________. 

a. 30º b. 60º c. 90º d. 20º 

31) Volume of cylinder = ________. 

a.     

b.     

c.      

d.      

32) Area of curved surface of cylinder is ___________. 

a.     

b.     

c.      

d.      
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Q#2: (a). Table oral.    /5 

(b). If A={2, 3, 4, 5}, B={5, 6, 7, 8} and U={1, 2, 3,….. 10} then prove that: /3 

AՈ(AUB) = A 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

(c). verify that:  
 

 
   

 

 
   

 

 
    

 

 
 

 

 
   

 

 
   /4 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

Q#2: (a). Apply quotient law to simplify:            /2 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 
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(b). if the perimeter of a triangle is 26cm and the ratio between its three sides is 2:3:4. Find 

the lengths of each of its sides.   /4 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

(c). 6 carpenters can make 8 chairs in 10 days, how many days will be required for 10 

carpenters to make 16 chairs.   /4 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

Q#4: (a). Find square root by division method 15625.  /3 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

(b). Find the least number by which 48 should be multiplied to make it a perfect square. /4 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 
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________________________________________________________________________

________________________________________________________________________ 

©. Find square root by prime factorization method: 
    

    
   /3 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

Q#5: (a). An amount of Rs. 45506 remained with Aslam for a whole year. How much zakat 

will he pay?     /4 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

(b). Simplify: 5(a – b) – 4(a+b+c)  /3 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

(c). Factorize:          /3 

________________________________________________________________________

________________________________________________________________________
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________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

Q#6: (a). A number multiplied by 4 is 30 greater than that number. What is the number? 3/ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

(b). Construct an isosceles triangle with base =5cm and base angle =65º  /4 

 

 

 

 

 

 

 

 

(c). the radius of park is 84m. find the cost of fencing the park five time at the rate of 

Rs.12/m.   /4 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________

________________________________________________________________________ 
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